. Would you rather.? ~ § of £4=£1 @ 1 of £6=£2

. Wouldyourather.? 3 of £8=£2 3 of £4=£2
. Would yourather.? 5 of £36=£24 : of £55=£11

. Would you rather..? 2 of £35=£14 3 of £96 = £12

2

. Would you rather...? 5 of £27=£18 1—% of £60=£18

. Would you rather.? 3 of £48=£18 2 of £45 = £25
. Would you rather.? £ of £54=£18 5 of £60 = £20
Would you rather..? £ of £70= £56 5 of £72 = £56
I. Would you rather.? 2 of £48=£18 2 of £45 = £25
2 Wouldyourather.? £ of £54=£18 5 of £60 = £20
3. Would you rather.? & of £70 = £56 5 of £72= £56
4. Would you rather.? 3 of £2 = 50p 15 of £5=50p
5. Would you rather..? 3 of£1=75p 2 of £2 = 50p

6. Would you rather.? 3 of £5=£250 5 of £6=£4

7. Would you rather.? (1 of £4 = £3.50 Z of t4=£1.60 Z of £450= £3

8. Would yourather.? £ of £150=£1.20 5 of £3=90p 2 of £270= £1.50

g



